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Complete the following Punnett squares and answer the corresponding questions.

1) For dragons, green scales (GG) and having spikes (SS) on the back are dominant traits to having brown scales (gg) and no spikes (ss). Use the Punnett square below to determine the possible offspring from a cross between two heterozygous green scaled, spiked back dragons.
Practice two trait independent assortment:

Parent 1 genotype: _____________

	
	
	

	
	
	

	
	
	



Parent 2 genotype: _____________

	
	
	

	
	
	

	
	
	



Complete the Punnet Square
	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


Genotypes: ______________________________
Phenotypes: _____________________________ ________________________________________
Phenotypic Ratios: ________________________
2) Also dominant in dragons is the ability to breathe fire (FF). Cross a brown, no scales on the back, cannot breathe fire dragon with a dragon that is heterozygous in all three traits (scale color, presence of spikes, ability to breathe fire).
a) Parent 1 Genotype (all recessive traits): ___________________________

Use the space below to sort the genes during independent assortment:
Independent assortment yields the following gametes for dragon parent 1: 

______________________________________________________________________________
b) Parent 2 Genotype (heterozygous traits): ______________________________________

Use the space below to sort the genes during independent assortment:

Independent assortment yields the following gametes for dragon parent 2:

_____________________________________________________________________________
c) How is a multiple trait cross a good example of how genes are independently assorted?

_____________________________________________________________________________

_____________________________________________________________________________
_____________________________________________________________________________
Complete the Punnett square for the cross of the all recessive trait dragon (parent 1) with the cross of the all heterozygous trait dragon (parent 2).
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	


Fill out the following probabilities for the phenotypes of the offspring in the above cross:

a) Green, spikes on back, breathes fire: __________________________________________
b) Green, no spikes on back, breathes fire: _______________________________________
c) Green, spikes on back, doesn’t breathe fire: ____________________________________
d) Green, no spikes on back, doesn’t breathe fire: _________________________________

e) Brown, spikes on back, breathes fire: _________________________________________

f) Brown, no spikes on back, breathes fire: _______________________________________

g) Brown, spikes on back, doesn’t breathe fire: ___________________________________

h) Brown, no spikes on back, doesn’t breathe fire: _________________________________
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